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Que.1 (a) Give the definition of financial management. Explain in detail
importance of financial management [7]
Que.1 (b) Explain: Profit maximization v/s Wealth maximization [7]

OR

Que.1 Shivam Ltd has two proposal for Capital Investment Which require to
invest Rs. 4,00,000 . Annual Income after depreciation but before tax

from both project are as follows. [14]
Year | Project- A | Project- B
1 2,40,000 | 2,50,000

2 2,10,000 | 1,50,000
3 1,60,000 | 1,50,000
4 1,60,000 | 1,00,000
5 40,000 50,000
Depreciation provides at 20% on codtef asset. Tax rate is 50%
Present Value of Rs.1 at 10% Digeount rate is 0.909, 0.826, 0.751,
0.683, and 0.621 Evaluate both project by following method.

1 Pay back period 2 Awerage rate of return
3 Net present value A Profitability index.
Que. 2 (a) Following Information is related to Satyam Ltd. [7]

Particulars Amount (Rs) | Cost of Capital
Equity ShareXCapital 1,00,000 16%
10% Preference Share Capital 20,000 10%
12% Debenture 80,000 6%

Calculate:

1 Weighted average cost of capital

2 If company wants to invest Rs. 50,000 in project equally by equity
share and debenture then find marginal weighted average cost of
capital. '

Que. 2 (b) A Ltd. issued 3,000 12% redeemable debenture share Rs. 100
each. debenture redeem after 10 years. For issue of debenture
company Paid 1.5% under —writing commission and Rs. 3,000 other
Expenses. Tax rate is 50%. Find cost of debenture after tax in
following circumstances. [7]

1 If issue at Par '
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2 If issue at 5% Premium
3 If issue at 5% Discount

OR

Que.2 (a) “Financial Leverage is two side Weapon” — Explain With

Example
(b) Explain : Combined Leverage

[10]
[4]

Que.3 (a) Net Operating income of Sundaram Ltd. is Rs. 2,40,000.and total
capital investment is Rs. 15,00,000 rate of equity capitalization is
12% If capital structure includes zero debenture but rate of equity
capitalization is 12.5%. If capital structure includes 8% debenture
of Rs. 5,00,000 and rate of equity capitalization 15%. If capital
structure includes 10% debenture of Rs. 9,00,000 calculate value
of firm and overall cost of capital as per tradittenal approach. [7]

Que.3 (b) From the following Information find valug-0f firm as per net

income and net operating income approécit.

171

Particulars Cénipany - A | Company - B
Earning before interest and tax Rs.2,00,000 | Rs. 2,00,000
Interest at 10% Rs. 50,000 --
Equity Capitalization rate 19% and tax rate 50%

OR

Que.3 (a) Explain Factors affesting dividend policies
Que.3 (b) Expalin: WalterModel.

Que.4 Explain in detailSources of working capital.
OR

Que.4 Write short notes:
1 Management of working capital
2 Types of working capital

Que.5 (a) Explain advantages and dis advantages of cash budget.

Que.5 (b) Explain: ABC analysis of inventory
OR

Que.5 (a) Write short notes:
1 Objects of management of receivables.
2 Liberal credit policy.

[10]
[4]
[14]

[14]

[10]
[4]

[14]
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